Advanced Math
2-7
(Day 2)
Slant Asymptotes
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Sketch the graph of the rational function. As sketching aids, use zeros, y-

intercepts, asymptotes, and symmetry.
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Sketch the graph of the rational function. As sketching aids, use zeros, y-

intercepts, asymptotes, and symmetry.

To find the location of the hole,

put the x value into the reduced equation.
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Even though the x + 3 s cancel

they can't be part of the domain.
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Because the hole is in the

top left

quadrant, we know the graph will
be drawn there without plotting a point.
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